1. 
a. False ; b. False; c. True; d. False; e. False;

15.

public class Secret

{

    private String name;

    private int age;

    private int weight;

    private double height;

    Secret() 

    {

        name = "";

        age = 0;

        weight = 0;

        height = 0.0;

    }

    Secret(String n, int a, int w, double h) 

    {

        name = n;

        age = a;

        weight = w;

        height = h;

    }

    public void setName(String n)

    {

        name = n;

    }

    public void setAge(int a)

    {

        age = a;

    }

    public void setWeight(int w) 

    {

        weight = w;

    }

    public void setHeight(double h) 

    {

        height = h;

    }

    public String getName() 
    {

        return name;

    }

    public int getAge() 

    {

        return age;

    }

    public int getWeight() 

    {

        return weight;
    }

    public int getHeight() 

    {

        return height;
    }

}

16.

a.
MyClass.incrementCount();
b. 
MyClass.printCount();

c.

public MyClass()

{

    x = 0;

}

public MyClass(int a)

{

    x = a;

}

public void setX(int a)

{

    x = a;

}

public void printX()

{

    System.out.println("x = " + x);

}
public static void printCount()

{

    System.out.println("count = " + count);

}

public static void incrementCount()

{

    count++;

}

d. 
MyClass myObject1 = new MyClass(5);

e.

MyClass myObject2 = new MyClass(6);

f.

The statements in Lines 1, 2, and 3 are valid. 

The statement in Line 4 is invalid because the method printX is not a static member of the class and so cannot be called by using the name of class. 
The statement in Line 5 is invalid because count is a private static data member of the class.
g. 


x = 5

count = 2

count = 2

x = 7
x = 14

count = 3

count = 3
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2. 
a.  int[] alpha = new int[15]; 

b.    System.out.print(alpha[9]);

c.    alpha[4] = 35;

d.    alpha[8] = alpha[5] + alpha[12]; 

e.    alpha[3] = 3 * alpha[7] – 57;  

f.     for (int j = 0; j < 15; j++)

{

    System.out.print(alpha[j] + "  ");

    if ((j + 1) % 5 == 0)

       System.out.println();

} 

4. 
The elements of list are: 2, 7, 6, 11, 10

5. 
The elements of list are: 5, 6, 9, 19, 23, 37

10.    a. int[][] alpha = new int[10][20];

b. 

   for (j = 0; j < alpha.length; j++)

       for (k = 0; k < alpha[0].length; k++)

           alpha[j][k] = 5;

c. 

   for (k = 0; k < alpha[0].length; k++)

       alpha[0][k] = 1;

   for (j = 1; j < alpha.length; j++)

       for (k = 0; k < alpha[0].length; k++)

              alpha[j][k] = 2;

d. 

   for (j = 0; j < 10; j++)

       alpha[j][0] = 5;

   for (k = 1; k < alpha[0].length; k++)

       for(j = 0; j < alpha.length; j++)

           alpha[j][k] = 2 * alpha[j][k-1];

e. 

   for (j = 0; j < alpha.length; j++)

   {

       for (k = 0; k < alpha[0].length; k++)

           System.out.print(alpha[j][k]+" ");

       System.out.println();

   }

f. 

   for (k = 0; k < alpha[0].length; k++)

   {

       for (j = 0; j < alpha.length; j++)

            System.out.print(alpha[j][k] + " ");

       System.out.println();

    }

